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TNPSC Group I Prelim Test - 1
Environment & Ecology
6th Term II & I1I, 8th Term II, 9th & 10th

1. is the percentage of nitrogen in air.
a.78% b.21% c. 0.03% d.1%
STBSIeL emBLJeflell FHaIHLD .

a.78% b.21% c. 0.03% d.1%

2. Nitrogen is used in the food packaging industry because it

a. provides colour to the food

b. provides oxygen to the food

c. adds proteins and minerals to the food

d. keeps the food fresh

© awiey USIUGSHHID  OFHThBaTensouled  emBLIMeT  LWSLGSHSUILGBSH S
6JGleoT6nTl60 :

a. 2 _ewalBg BB Slefsspgl.

b. 2 awialBE gGFmen oleldHBa.

Cc. 2 awlalB@ UISSHmBUID, HTH 2 LibHmenujld Siefobapgl.

d. o ewieyi Qurmemen LHWHTEC BHBGIDLIGTF OFUIHGBIBS.

3. Dryiceis
a. frozen water b. solid CO,
c. Liquid nitrogen d. Liquor ammonia
® T LGB g 6I60TLISI
a. 2 _emphal Gumer By b. . CO,
C. 5T GBL Q60T d. Bmo oubGomeflwim

4. Around 97% of water available on earth is

a. fresh b. pure c. salty d. polluted
o qudled o _6item QOTHS Biled 97% L& LD.
a. evtesfiT b. gmwmbT C. 2 1] [ d. wrgemLbs B
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Which of the following processes add water vapour to the atmosphere?
I. Transpiration IL Precipitation III. Condensation IV. Evaporation

a. Il and III b. Il and IV c.land IV d.Tand II
Leiteu(hd (ewmEEmHeT HITalullener eueloeniLeodHHlanieln GG 61517

I. wymeltiBumd@, II. wenpGLITHHeL

ITII. el SmHEIGH0 IV. selwunged

a. Il wppw I b. II wppow IV c. 1 wopn IV d. I wspw II

About 30% of the fresh water is found in?

a. glaciers b. ground water

c. other sources of water d. 0.3%

petefifled giomm 30% BT mBs STewIlILGHBEH?

a. uel eumiBem b, Mevdslg BT  C. wBB BT sTEIBeT d. GuoBuyliy BT

Using R.O. plant at home eliminates lot of non-potable water. The best way
to effectively use the expelled water of R.O. plant is .

a. make the expelled water go and seep near the bore well

b. use it for watering plants

c. to drink the expelled water after boiling and cooling

d. to use for cooking as the water is full of many nutrients
il ged BT sSFHafiler CQurupgd OGu@pwete] 2o iy BT GCeuelCuBISBSI.
GeouefCwpw o ety miewer el UWSTLUGSHHID FmhHH el  wrbgHeied

a. GeuafGuplwl Heny Sigienen HeiBBHCH ol B HFUl MEUSHHEOTLD.

b. By CFYHEHEHEG BHBB LIWETLIHESSHE0TLD.

c. GauefBuplw peny CBETHES meudhdl, Ll GH6f] MeUSHBHI LHBEUTLD.

d. o oFsworer 2 ulT FHHHHET GHULSTED DHMT FEOUIISESLI
LIUIeOTLI(H & &H60MLD.

The World Water Day is observation

a. April 22 b. June 10 c. May 21 d. March 22
® & B SHleubd

a. guyed 22 b. sgeai1 10 c. G 21 d. wrirg 22

Match the following
A. Biotic factor 1. Terrestrial Ecosystem
B. Sewage 2. Land pollution
C. Fertilizers 3. Air pollution
D. Desert 4. Water Pollution
E. Smoke 5. Animals
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QUT(HHHISH:
A. 2 uifled Fmmismel 1. HeVAITD EHLDHEM6V LDGWIL VLD
B. gnasamLd BL6 el 2. [Blev oT&HUTH
C. QewuBens o Jhisel 3. &IBm wr&EUTH
D. urensveuestid 4. BT wr&EUTH
E. yomws 5. @160mIGHEH6N
A B C D E
a. 5 4 2 1 3
b. 1 2 3 4 5
C. 2 5 4 1 3
d. 5 2 3 1 4
10. The rules of solid waste management declared in .
a. 2000 b. 2006 c. 2016 d. 1996
FHLéa10e] Gueomeniento alg OGeueful Ll L SewiH :
a. 2000 b. 2006 c. 2016 d. 1996

11.  Choose the correct food chain from the following
a. Snake — Algae — Frog — Insect
b. Algae — Insect - Frog — Snake
c. Frog — Snake — Insect — Algae
d. Insect - Frog — Snake — Algae
SpdbpeuiLeuBpled Fflwmen o emeyFsmdledlenws CHTHOSHMH.
a. UmbL] —> QLe0sT —> FHeuenen —> L&
b. guevamr — UFH — Heuewenr —> LML
C. HAUMGT —> UMD —> LU&FF —> S60HT
d. usFdl — Feuememr — UMDY —> QLEOBT

12. The reason for acid rain is )

a. Land Pollution b. Water Pollution
c. Air Pollution d. Noise Pollution
SIOL LDMID 2 (heUTdHdH SHMJewId _

a. plev THEUTH b. BT wraHuTE

C. &MHBE WTHUTH d. @6l wrsuT®

13. Food chain starts from

a. Plant b. Deer c. Tiger d. Sun
® 6016 FFMmIdI60 J(HHIHI DLILDLIOTSBSI.
a. SHTUJLD b. wmesr c. yed d. @fuwer
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14. Vermicompost will get ready after ___ days.

a. b4 b. 45 c.35 d. 42
LOGRTL|(LY 2 LD BTETHEHEGSGLILNST HUWMITH E(HHESLD.
a. b4 b. 45 c.35 d. 42

15. Aerated water contains

a. air b. oxygen c. carbon dioxide d. nitrogen
STBEBMMLD GFuwiul L BHiled o 6iTeNgl.

a. STHBHI b. oysHxenn

C. BTLIGHT-6mL - HmTF (B d. empL yeges

16. Match the following.

A. Nitrogen 1. Respiration in living animals
B. Oxygen 2. Fertilizer
C. Carbon dioxide 3. Refrigerator
D. Dry ice 4. Fire extinguisher
QUT(HHHISH:
A. el yegest 1. o ulflenmbisefen giaurdldaHe0
B. oysdmen 2. 2 qJib
C. amust oL Y bHma®H 3. @efitugpel G g
D. o svituefl 4. SHUIEneNTLILIT6IT
A B C D
a. 1 4 2 3
b. 2 1 4 3
c. 4 3 2 1
d 2 4 1 3
17. ____ is the major reason for the extinction of coral reefs.
a. Acid rain b. Global warming
c. Solar radiation d. dry ice
LeUeTUILTeNBEH6T DIPeuSBE@ (PeHHW STJeld _ SGLD.
a. oflev emLp b. 2 & GauILIDWIDTSHED
C. Bilwd sHiaiFas d. 2 oo ueldbasl g
18.  Match the following.
Microorganism Role Played
A. Nitrosomonas 1. Nitrogen fixation
B. Azotobacter 2. Ammonification
C. Pseudomonas species 3. Nitrification
D. Putrefying bacteria 4. Denitrification

alpaco APPOLD STUNY CENTRE PH: 044-24339436 478R75a0. GRAN77R1RT
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OUIT(HSHH1H:

I EIPNERI DIHET LIMIG

A. BTN BleneulILI(hEHHIH60 1. ewpl y@amGiomentTerd

B. &Gwrelwimeurgsd 2. 98amGLTuTsLIT

C. ewpl Gyl LrsHe0 3. @&BLBomedtTerd  Fi3nsleoThIH6IT

D. sopl Gyl GeuefGuibmsLd 4. s|pameudb@ LTdlefumdaelr
A B C D

a. 1 4 3 2

b. 2 4 1 3

C. 2 3 1 4

d 1 2 3 4

19. The biogeochemical cycle is/are

a. Water cycle b. Nitrogen cycle

c. Carbon cycle d. All the above

spseniaupmpleo o ulliyel CeudsFHpmd _  SuEGID.

a. BT sipBd b. enpl et apmd

C. &6 &IpB d. GoBEem.  SHIMRIHHID

20. ___ isa primary nutrient important for survival of all living organism.
a. Nitrogen b. Iodine
c. Helium d. Aluminium

LG  SIMaIHH 2 Ulflemiasepds@ld o ulifeurp GhHemeuwimer  (LHFHeo
Hlemev 2611 | FFHBHTGSLD.

a. bl JeQest b. @Gumgesr
c. anfeduib d. oondefiuwib
21. plants have air chambers to provide buoyancy and mechanical
support to plant.
a. Lemna b. Hydrilla c. Lotus d. Eichchornia

HTAUTSHFH 60 ST ILIBLD SHTBBENBL GLISHGIT SIUBBIBG
HSLISHSETMOUD 2 BIFHSHHTMOUID  FH(HE 6IBEI.
a. priurg b. GauevibLimd C. SHITLDED] d. sysrushsTioeny

22.  With respect to International Union for conservation of Nature and Natural
Resources (IUCN) consider the following:-
1. IUCN was founded at Switcherland.
2. India became member of IUCN in 1969
a. Both 1, 2 correct b. Both 1, 2 false
c. 1is correct, 2 is wrong d. 1is wrong, 2 is correct




23.

24,

25.

26.
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Aumma (I0) BUIBNS UTRIGMENTL LUTHISTEHEGD USTaml(H  eisluidhensdd
(IUCN) asmais.

1. IUCN &l gieonbdlev CaHmmmielsaliul (HeiTeng.

2. 1969-00 @pdHumr ITUCN-60 o miniemmeng

a.1,2 @yewin i b. @rewiG Heumi

c.1 &f, 2 seam d.1 seuml, 2 &

Identify the following pairs
Draught breeds in Tamil Nadu  Native Place

1. Kangayam Coimbatore

2. Bargur Madurai

3. Umblachery Thanjavur

Which of the above pair is correctly matched

a.1,2,3 b.1,3 c.1,2 d.2,3
SLDHHEUILUBBIGT Denerienlidh FHewiL 1.

SHLOBHSHevi6Ten B (pew6eu  LOT(HEH6IT SHTUISHLD

1. &mmRiGsuid Gamuwiby g gt

2. UTGall LD I6MI

3. o 1buengF@a &H(GhIFTEL,T

Guomseni. Bemeniseled FRwTsL QUTHHIU6T6Ten6

a.1,2,3 b.1,3 c.1,2 d.2,3
Who is known as Architect of India’s Modern Dairy Industry

a. Dr. M.S. Swaminathan b. Dr. Verghese Kurien
c. T.T. Krishnamachari d. Ram Manohar Lohia
baler @bFHwmaler LTeL Lewienentd G miedler MLl ererliLBLeuT wimT?
a. Dr. M.S. saumobesr b. Dr. autderd @fluiest

c. T.T. Smayewiongamil d. gmb wGemeT GeomaSluwim

Pokkali culture practiced in Kerala is

a. Paddy + Prawn b. Paddy + Fish

c. Wheat + Prawn d. Wheat + Fish
Gayenmaled LaBpriLB GUTesTed eUeNTLL] 6TeTLIg] .
a. GpBuUiT + @mBTed b. GmBuUUlT + e

c. Cargiemp + BmTed d. Gangiewip + 1Sesr

The method of growing plants without soil, using mineral nutrient solution
in water is

a. Aquaponics  b. Hydroponics c. Polyculture  d. Aeroponics
LDGIGTGU0T6VGVT, [HIT 26T & HID 61l L hiGSem6Nd OBTeni(h HTEUTHRISHEMET 6U6TTHEGHLID
(LPEDBLLITEIS)

a. SHeauTGuTaildberd b. eami” GrmGumefderd

C. UTeIBeO&FSIT d. gGymGUITeerd




[ APP & LI]J

27.

28.

29.

30.

31.
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Which one of the following is an Italian species of honey bee

a. Apis Mellifera b. Apis dorsata
c. Apis Florae d. Apis Cerana
BIPHBHEWILBMIeT, STV aUendsH CHet @erd wimg)?
a. gLlerd GIoeveY.".OLIyT b. eguled Lar@aim
c. glerd LGermmluwm d. guilerd Qaymest

___ isused along with ammonia in the manufacture of fertilizers like urea.
a. Nitrogen b. Oxygen c. Hydrogen d. Carbon dioxide
wiflwr  Gumesis o gmser  swnflés  oubBwomelwre el  CFibhal
LWeTL(HSIBSI.

a. oMb [Teges b. oysHegen

C. GMABL [JE63 d. sniuer oL HmFH

What are the steps will you adopt for better waste management?
a. reduce the amount of waste formed b. reuse the waste

c. recycle the waste d. all of the above

slhasemen  Geomenientd  OFUIMSMBHTS  H(peieneuBmIeT  eTeuBNlensdt BT
LWSTUGSHHIOTT?

a. 6 BT 2 (HUTGLD DIeTEN6UD (FHNMBEHHED

b. s1fesenen 1@ LIWETUTE G (PeHBUTED LILIGTLIGSSHIH6.

C. slfloydenen LOBIFIEBE OFUIH6L

d. GuoBsv 2 _siTeNeneU SIMRIHHID

Green house effect refers to

a. cooling of earth b. trapping of UV rays
c. cultivation of plants d. warming of earth

ugmID Bevev allemenay elel G LILIBHIS

a. yfl Geflirgev

b.up eagrs &HiTH6 Geuedl GFeL6VTION B(HHHEV.
C. HTaugmiser LUlT GFuighed
d. i GeulipTHeEL

Which of the following statement is wrong with respect to wind energy
a. wind energy is a renewable energy

b. the blades of wind mill are operated with the help of electric motor
c. production of wind energy is pollution free

d. usage of wind energy can reduce the consumption of fossil fuels.
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32.

33.

34.

35.

36.

37.
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BB OBTHSHBLILL([H6TeN FnBmIHeiled HTMMBTHBBEL GHWHSH SHeumTeT FmBml 6157
a. SMBBIBBL P LUSIITSES55HE SyBBeD

b. arpprensouien @BoHmede WOGGIGDTLLTT cpeold SuibaILBa eimer.

C. HMBBIBBEL OT& GHBLBSITON 2 BLSHH CFUILILIBGSBSI.

d. smBBrBBameL LWTLUBSHSBHIUSHEET  cLP6eVLD LenSGLIQ 6 QUL BHeiT
LIWLIGITLITL 1960601 (6mMBah&6ITLD.

is a biosphere reserves in Tamilnadu.

a. Nilgiris b. Covai c. Ooty d. Chennai
SLODBTLIQEVIGTEN __ 6(h UTHISTHSLIULL 2 ulfld Gsmend SMiUS LIGSHWTEGLD.
a. beodifl b. Gsrene c. o9 d. QFetener

E-waste includes computer components of :

a.12% b.7 % c. 66 % d.5%
oleteoTamId Hlhledelled SHemilell OLITIHL SHeiT 2 6oL SHBHUIFI.
a.12% b.7 % c. 66 % d.5 %

The gas given out during photosynthesis is

a. Oxygen b. Carbon dioxide c. Nitrogen d. Helium

e FBaTdbemauler CUTIDE Geuailauhd eumuy DG LD.

a. oL Ghd e b. sniiuet L oubEmEFB C. MHLFE6H d. enfeduib
Troposphere extends upwards for about

a. 6 km b. 16 km c. 26 km d. 50 km

SlgWIbhsHE UFeluleiTen 2 ulfid

a. 6 km b. 16 km c. 26 km d. 50 km

The shiny dust particles dancing on the path of sunlight through a narrow
slit due to

a. reflection b. diffusion c. scattering d. vapourisation
@6l  GFead FHLSHFHe6TeNn  HIFIOUTHLH6T MFHITL&H SHTT6NID  Dleve6l
PRI

a. Urgdueddaement b. alyeusQauidemser

c. pmF QFUIdement d. ewelwirs@ad amer

The combustion mixture in rockets along with the fuel is

a. Nitrogen b. LPG c. Helium d. Oxygen
BArEesL. erMOummeT Hevenaull a1 BFTHFH DIILILINLIBLD U

a. eMbLIeges b. LPG c. enfelluwid d. suseiegen
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38.

39.

40.

41.
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Match the following

A. Troposphere 1. Oxygen

B. Stratosphere 2. Nitrogen

C. Highly reactive 3. Water vapour

D. 4 /5% of air 4. Ozone layer
A B CcC D

a. 1 4 3 2

b. 3 2 1 4

c. 4 2 1 3

d 3 4 1 2

OUIT(HSHHIH.

A. o19uLBES 1. SuHeniiggent

B. uenL wi®BsE 2. emBLJegest

C. a1ds alemnendhnses 3. mymel

D. smppiled 4/5 umig 4. @Ggmelr LIL6uLD
A B CcC D

a. 1 4 3 2

b. 3 2 1 4

c. 4 2 1 3

d 3 4 1 2

The product(s) obtained in the chemical reaction of Air with digested food
is (are)

a. CO, b. HO c. Energy d. All of these
Cgfshs o ewia| el STHH el fibgd SHHD alenenOLIT(HeT(H6IT).

a. CO, b. H,O C. SBM6L d. Bmear SmTSHHID
The percentage of CO; in exhaled air is

a. 0.95% b. 4% c. 16% d. 0.03%
aoundleaeder Curg GeueMCuBBIILGL sTBBeveTen COser FHeis Sleney

a. 0.95% b. 4% c. 16% d. 0.03%

Brackish water contains upto _____ % of salt.

a. 7% b. 10% c.5% d.3%

o aumiy mied oFPB0TE %  eumguled 2 LHeT  HdIHSH  [Hlenevuled
O GGG,

a.7% b. 10% c. 5% d.3%
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42.  Match the following

A. The Himalayas - 1. Transpiration
B. Hydrological - 2. Estuary
C. Coovam - 3. Wetlands that are forested
D. Salt water - 4. Roof of the world
E. Plants - 5. Water cycle
F. Swamps - 6. Sea
A B C D E F
a. 2 4 6 1 3 5
b. 4 5 2 6 1 3
C. 1 5 2 3 4 6
d 6 2 3 1 4 5
QUT(HHHIB
A. BIbuinenev 1. pymaliBurss,
B. emami greligddssd Fipmd 2. (IPHSHSHIQUMTTLD
C. gmeud 3. @Il Hevd SHTHH6N
D. o (g pir 4. 2 0EGE Fne0]
E. smeugd 5. BT &ipBd
F. gl meuld 6. L6V
A B C D E F
a 2 4 6 1 3 5
b 4 5 2 6 1 3
C 1 5 2 3 4 6
d 6 2 3 1 4 5
43. Match the following
A. Producers 1. Human
B. Herbivores 2. Bacteria
C. Carnivores 3. Plant
D. Omnivores 4. Deer
E. Decomposers 5. Frog
A B C D E
a. 1 4 5 2 3
b. 4 5 3 2 1
C. 3 4 5 1 2
d 1 2 5 4 3
QUT(HHHIS.
A. 2 _BuUSFHwITenaer 1. oeofigeit
B. smeuy o evitemniser 2. umdterfluwim
C. 2o o eutenideit 3. SHTeUyLd
D. siemer1s 3616l b6l 4. Lomedt
E. fensliuemeusmelt 5. Healemer

101000 APPOIN STUNY CENTRE PH- N44-24339436. 478675505 98407276187
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44.

45.

46.

CHENNAI

Q0 oo
_= =y
N B O g
g gl W g A
B = NN
W N~ W

Plants release water vapour into the atmosphere through stomata. This is
called .

a. sublimation b. Transpiration

c. Condensation d. Precipitation

SHTOUTRIGHET EeNeVHBHIMET (LPeVIDTH Hew] bITalwms OCeuefulBd Hobey
eTGTLILI(HLD.

a. LIGHBIGBLDTH6D b. Bymall GursE
c. GofiTaldhmeo d. wenpriGumey
Match the following
A. Chlorophyll 1. Light and heat
B. Stomata 2. Light absorber
C. Transpiration 3. Water loss
D. Burning 4. Natural opening
A B C D
a. 2 4 3 .
b. 4 3 2 1
c. 2 1 4 3
d 1 Z 3 4
OUIT(HSH SIS

A. &Cenm@yrm. .1 960 1. @af BBID GeuliLib
B. erd0QLmol L 2. qofl o mlehdighed
C. pymailtiBunsa@ 3. B Sl
D. enfige0 4. SUIBMSHWITET HIBLIL
A B CcC D
a 2 4 3 1
b 4 3 2 1
C 2 1 4 3
d 1 2 3 4
Only percent of natural water is available for human consumption.
a.04 b. 0.2 c.0.3 d. 0.1
BUBMBWLTES LG Hifled FHAIBHID BT L0eNGHe6 LILITUTL 19MB&HTH
2_6ITeNG|.
a.04 b.0.2 c.0.3 d.0.1
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nyY nratTre
CHENNAI

, are wetlands where water bodies meet the sea.

a. Junction b. Swamps c. Wetlands d. Estuaries
BT HeMeVH6T FHLWVF FhHbGD FJ HeVRISEHHESG _ 6leiml GLUu.
a. FhFHiy b. Faiiy Meod  C. FHleVID d. wassHseuTTID

The organisms which can produce their own food by themselves are called
as

a. Primary consumer b. Secondary consumer

c. Tertiary consumer d. Producers

HNHHTE 2 _amienal SHTCa1 o BusHd Oguigk OEmerend &ngwl o ullflemisemen
____ oTeiislGmmid.

a. (IpH6e0 Henev [HIBTGaUTT b. @yewiLmb Blenev HIGTGeuTT
C. (PEIBTD Hlewev HIHTGeuTT d. 2 mugduwmenitasel

molecule is known as ozone.

a. Dioxygen b. monooxygen

c. Trioxygen d. Pentaoxygen

SbFmener _ cpevdHdaml @GFmei 6TelILIBLD.

a. Fyeml b. graw C. cLpougH d. eboam

Much of the naturally occurring CO; is emitted from .

a. Human CO emissions b. fermentation reactions

c. Magma through volcanoesd. Burning of fossil fuels

Buimemauied STILILIBID  GLI(HDLITELTET  HTTUST DL SLHmFH _ CLP6VLD
OeuaTCuBBLILIGSBSI.

a. welgd GCFwedLTHH6T b. OBETHSHHe0 BEIDaH6I

c. emweneouledmbdh aumd Gwsiom  d. wgw eMGUTHeTHmern 6iflghaHe0.
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